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DA - B SRI(SH) - MIAY - BaS Of e el HI DS
NEEEEEEE 296,040 231,367 64,673
301 LBHBFI 296,040 231,367 64,673
08 NEI=R AT 296,040 231,367 64,673
OMNEI=LR8 Q| (#H LX) 109,640
—-23 676,102 * 102 * 122 81,132
— Al 7,008 * 103 * 212 * 122 17,640
S 3,002 * 102 * 212 * 122 7,560
—II=HI(512, £S=)
330,7208 * 108 1% 3,308
OMEI=2R8 QIRHI(ABI=XAL2ETAS) 176,400
— Al 7,002 * 100 * 212 * 122 176,400
OnLrRea 10,000,000 * 14! 10,000
EBRENTESE 37,500 37,500 0
= 7,500
Al 30,000
308 XXISHRISOIH 37,500 37,500 0
= 7,500
Al 30,000
10 CIHZSANABLEE 37,500 37,500 0
OUbIZ S5 X2 37,500,000 * 14! 37,500
= 7,500
Al 30,000
EL T 22,200 38,900 A16,700
201 LEr2| 9,000 9,000 0
01 ArR22t] 9,000 9,000 0
OCIEIZXISITH AFRA URI2 X2
9,000,000 * 1744 9,000
206 24| 2,700 0 2,700
01 W=H] 2,700 0 2,700
OFSHIIF B4 WIHl 2,700,008 * 14 2,700
301 LBFES 10,500 9,900 600
CEIPINES 10,500 9,900 600
OXIge SEI} 0lHIZ 2+ K|
3,000 * 3,508 * 18l 10,500
CCTV Z2I(BBRMLHE/TH T - 21 3,347,963 2,758,093 589,870
= 19,644
Al 3,308,319
oCTV 22l 2,307,023 2,085,757 221,266
CCTV SBZHHE 2 2,289,003 2,085,757 203,266
101 Q1218 835,200 874,800 39,600
IEIy FEEVT=ES 835,200 874,800 39,600




A M

I CCTV 2 SSEMLHM /Y - 218t2])

ol CCTV &2 (2 &)
= =zH . C}O|( S = HAS ol HEAS =3}
M ZH . CERI(Z[H) - MISAY - BAS O AkH Oi| AboH Hns2

OQIZHI(Al 12, W=EHA 12) 835,200
—lE2 ¥ +¢
2,680,000 * 24H » 123 771,840
—28s 220,000& * 24% = 12& 63,360
201 LBH23| 1,151,223 965,357 185,866
01 At22t2lt| 15,020 13,400 1,620
OZHIHE 22l 1,000,000 * 12& 12,000
OAxRE =4l 2,000
—SAD| €Y 200,000& * 33 * 104 600
—PC =2l 80,000& = 13| = 10CH 800
—J|E ==2lH| 50,000& = 12& 600
OSEZMNLAH S AIZEE 15,000& * 12& 180
OSE2MHAE D] eXts
35,000& * 204 = 12& 840
02 E=23| 1,136,203 951,957 184,246
OCCTV RXI24 192,650
—9HE Y 01210l 25 (CTV
200,000& = 507CH 101,400
—Ald2te| sg4 CCTV 250,000 = 64CH 16,000
—XEHS Q1A CCTV 350,000& * 215CH 75,250
OslEAEZ 586, 170
—HIE 3,200,000& * 13| = 12& 38,400
—ENE 95,0003 * 4834 « 123 54,720
—xS88, s
95,000& * 453|& « 12& 51,300
— XS Q1AL OCTV
95,000& * 1203l = 12& 136,800
—SHs 80,000& » 2502|& « 12& 240,000
=&l Xl CCTV gl
95,0003 » 9Q03H * 7& 59,850
—THHAOHN ADIEAIE| SEEHS MNESH
425,000& = 12& 5,100
OXIINEZ 92,940
— I 1,400,000& * 12& 16,800
—2Ng 18,000& * 3000HA = 12& 64,800
=& 18,000& * 904 » 73 11,340
OZHAIAE 2RS4 264,443
—HMW(ZtHIAE, MEEX S)
1,523,859,000& * 7/100 * 1.1 117,338
—HIER3 FHI(L2, L3 AR S)
103,101,000& * 7/100 * 1.1 7,939
— S orAH| (Etahel)
532,617,000& * 7/100 * 1.1 41,012
—S20ELI(UPS, &285)] S)
95,182,000 * 7/100 * 1.1 7,330




=Y S HReIESh =S
B OV 22l (ZREMALE/ LT - 1)
©el: CCTV 22l (&2 A&)
. i ~
—SM(Eeen, AE=H 5)
750,611,000& = 11/100 * 1.1 90,824
207 AR 9,000 21,000 212,000
02 HEDNEHI 9,000 21,000 12,000
Ol M == 2GHA W
9,000,000& * 14 9,000
405 XHoHESHI 293,600 224,600 69,000
01 XL =SSHSHI 293,600 224,600 69,000
OSEHMHE ADIEZHAY B4
180,000,000& * 14! 180,000
OZHE PC BIERA WAl
21,600,000& » 14 21,600
O2Hl Jratst A SW WAl
55,000,000& = 1A 55,000
OMZ=2H &FE cloldA B4
37,000,000& * 14 37,000
CCTV SEHMMEH &= 18,000 0 18,000
401 AIEHIZ 2| 18,000 0 18,000
01 Al&HI 18,000 0 18,000
OCCTVEE2MAH Jl2 L AAEH EX(FIH2)
18,000,000& * 14 18,000
HAMY Y XIetMEIA 1,040,940 672,336 368,604
< 19,644
Al 1,021,296
ANELHAUHZ IS XA 107,460 121,336 A13,876
301 LEEEZ 96,220 111,220 A15,000
04 N2 HALIXIA 96,220 111,220 A15,000
OXEEnl oralgl X
3,000& * 68% » 365 74,460
OXtsg8EA ey K|
100,000 = 17JHCH = 5& 8,500
OXsgdll 2HEsS 72
300,000& = 17JHCH 5,100
OX=2¢gdAsl 2= A&
10,0002 * 68JHCH + 123 8,160
307 2I2H0| & 11,240 10,116 1,124
04 DIZISHAIAIRE X 11,240 10,116 1,124
OXsgEHASl stwZES0Y 2 JISs0S
CHal(B X2 80%) 9,000
11,250,000& * 13| * 80/100
OJETN e ¥ DAY BHO(2ES
80%) 2,800,000& * 13| * 80/100 2,240
HIWY &= 868,000 499,000 369,000
401 AlEHIZ20HH| 868,000 499,000 369,000




SH: OHE YD
B2 OCTV 22l (BBEAILOHE /T - BI9)
ol BIE0f 9 XIotAHIA (EH9l: @2)
o ) - - NEs
A - B SRA(3H) - HRAY - BES Ofl &b oK 01l AkoH Hlws2
01 A2t 868,000 499,000 369,000
OFQC2 Yeg (CVAX] 320,000
—XHS QIAIZ CCTV A
10,000,0002! + 20CH 200,000
—XIYHS QIAZ CCTV ARAX|
20,000,0002! + 2L} 40,000
—S CCTV AF&X 4,000,009 * 20CH 80,000
OSBIS 2eig CV A7 &3
4,000,002 * 57CH 228,000
O=% S4 CCTV 2A  3,000,0002 + 100CH 300,000
ONSYHY =3 £4 2|28
10,000,008 * 242 20,000
() EIF 24X HCCTV & 48,000 52,000 £4,000
< 14,400
Al 33,600
401 AlHI LS THY| 48,000 52,000 £4,000
< 14,400
Al 33,600
01 AIZH] 48,000 52,000 £4,000
OBITF XIS CCTV &X|  48,000,0008 * 14 48,000
= 14,400
Al 33,600
(SIS YH=Zess 292 X8 17,480 0 17,480
= 5,244
Al 2,236
01 YpBFI 17,480 0 17,480
= 5,244
Al 2,236
04 IrSFHHALIX 17,480 0 17,480
ORtggeoiss c22s N
17,480,002 * 141 17,480
= 5,244
Al 12,236
SH 2SI (HF L) (OIEHIIED 9,962 94,106 1,85
o=l 9,962 94,106 1,85
o= 9,962 94,106 1,85
201 Yr2H| 23,842 23,066 776
01 AFR 22l 23,842 23,066 776
O=AEX 7 16,0008 * 1722 « 128 3,264
OS20K41H| 7,002 * 64 * 17 + 122 8,568
oYtz 100,002 * 122 1,200
OARR TAH7| 50,0002 + 122 600
OARR 44| 9,190
—=AD| 22l 1,000,002 * 1CH 1,000




SA AT
B 2 EA (BT OIEHIIED
el o123l (&2 &)
SA - H - C9l(3) - HIRAR - BaS Of e el HI DS
—Z2H el 100,000& * 5CH * 50/100 250
—SAD EYH 200,000& = 53|  10H 1,000
—HBIH(S%W) € 200,0008 * 53 * 504 5,000
—ZBIH (&) EH  200,0008 * 53| « 1CH 1,000
—PC ==cl 100,000& = 17CH = 20/100 340
—JIEt=s=cltl 50,0002 = 122 600
OJIEIAEESHI 5,000& = 17& » 128 1,020
202 O 67,320 66,240 1,080
01 204l 67,320 66,240 1,080
O2LHALI 20,0002 = 178 = 12& = 123 48,960
O2t20t| 90,0002 = 17& » 12& 18,360
203 gF=&i| 3,600 3,600 0
04 FAEIHRFEI 3,600 3,600 0
OFAMEgE 2= 300,000& = 12 3,600
204 X FH| 1,200 1,200 0
01 A IR+ 1,200 1,200 0
ORI T AL L8| (O F T D)
100,000& = 12 1,200
HPES(AHATH M) (SSEMLHE/THEHL Y - 212421) 622,213 1,044,850 N422,637
LIS HHKIE 622,213 1,044,850 NA422,637
LHEHHKI = 622,213 1,044,850 NA422,637
702 JI=dE=2 622,213 1,044,850 N422,637
01 JI=dE=s 622,213 1,044,850 NA422,637
Olfjgraredls MEa(My ¢ etd2ed|=2
Hie7x) 186,663,854,300& * 1/3 % 1/100 622,213






